
Complete Disc Brake Assemblies
https://catalog.magictilt.com/product/complete-disc-brake-asse

mblies/

Page: 1

COMPLETE DISC BRAKE ASSEMBLIES

SKU: N/A | Categories: Brakes and Brake Components |

VARIATIONS

Image SKU Description Type:

PG1037

SPECS SKU: PG1037 Diameter: 12″ Finish: E-Coat Bolt Pattern:
6Lx5.5″ Brand: UFP Contains: Part Description Qty PD2250 LUG

NUT 13/16" 12 PE1500 BEARING 1-1/4" [67048] 2 PE1600
BEARING 1-3/4" [25580] 2 PE2101 SEAL 1-3/4"[UFP][21333] 2

PF1102 BEARING PROTECTOR #2.328[EACH] 2 PG1095 16000#
ACTUATOR [UFP] 1 PG1186 HYD. BRAKE HOSE W/SWIVEL 8' 1

PG1192 HYD. BRAKE HOSE W/SWIVEL 23' 1 PG2027 DISC ROTOR
AND HUB 12" 6LUG [UFP] 2 PG4862 CALIPER FITTING PLUG, UFP #

32212 2 PG5003 DISC BRAKE CALIPER ASSY LH [UFP DB3 1
PG5005 DISC BRAKE CALIPER ASSY RH-[UFP DB3 1 PG5007

7/16"X1"SHCS BOLT [UFP DISC CALIPER 4 PL2128 5 WAY FULL
GROUND WIRE HARNESS 30' 1 PL2954 PLASTIC WIRE TIE HD
14-1/2"" 6 PV1733 SAFETY CHAIN-3/8 X 36"[EACH] 16.2K 2

PG1037 -
12" DISC
BRAKE

KIT

https://catalog.magictilt.com/product-category/axles-brakes-bearings/brakes-brake-components/


Complete Disc Brake Assemblies
https://catalog.magictilt.com/product/complete-disc-brake-asse

mblies/

Page: 2

Image SKU Description Type:

PG1031

SPECS SKU: PG1031 Type: COMPLETE 10" DISC BRAKE KIT 7K
ACTUATOR Diameter: 10″ Finish: E-Coat Bolt Pattern: 5Lx4.5″
Brand: UFP Contains: Part Description Qty PD2250 LUG NUT

13/16" 10 PE1400 BEARING 1-1/16" [44649] 2 PE1450 BEARING
1-3/8" [68149] 2 PE2055 SEAL 1-3/8"[UFP][257-168] 2 PF1053

BEARING PROTECTOR SET S/S #1.980 1 PG1090 7500#
ACTUATOR[UFP] IN-LINE DISC 4H 1 PG1186 HYD. BRAKE HOSE

W/SWIVEL 8' 1 PG1192 HYD. BRAKE HOSE W/SWIVEL 23' 1 PG2026
DISC ROTOR AND HUB 10" 5LUG [UFP] 2 PG4862 CALIPER FITTING
PLUG, UFP # 32212 2 PG5003 DISC BRAKE CALIPER ASSY LH [UFP
DB3 1 PG5005 DISC BRAKE CALIPER ASSY RH-[UFP DB3 1 PG5007

7/16"X1"SHCS BOLT [UFP DISC CALIPER 4 PL2128 5 WAY FULL
GROUND WIRE HARNESS 30' 1 PL2954 PLASTIC WIRE TIE HD
14-1/2"" 6 PV1711 1/4" CHAIN W/ONE HOOK 40" 2 PY0270

CAPSCREW PLTD NC 1/2X4 1/2 GR5 4 PY1315 NUT LOCK NI 1/2-13
PLTD 4

PG1031 -
10" DISC
BRAKE

KIT


